CHALMERS GÖTEBORG UNIVERSITY

PREPRINT

Minkowski Sums and Brownian Exit Times

CHRISTER BORELL

Department of Mathematical Sciences
Division of Mathematics
CHALMERS UNIVERSITY OF TECHNOLOGY
GÖTEBORG UNIVERSITY

Göteborg Sweden 2005

Preprint 2005:12

Minkowski Sums and Brownian Exit Times

Christer Borell

CHALMERS | GÖTEBORG UNIVERSITY





Computational Mathematics
Department of Mathematical Sciences
Chalmers University of Technology and Göteborg University
SE-412 96 Göteborg, Sweden
Göteborg, April 2005

Preprint ISSN 1652-9715/No.2005:12

Matematiska Vetenskaper Göteborg 2005

Minkowski sums and Brownian exit times

Christer Borell

School of Mathematical Sciences, Chalmers University of Technology and Göteborg University, S-412 96 Göteborg, Sweden

e-mail: borell@math.chalmers.se

Key words: Brownian motion, exit time, Bachelier's formula, Ehrhard's inequality, affine half-space

AMS Subject Classification (2000): 35K05, 52A40, 58J35, 60G15

Abstract. If C is a domain in \mathbb{R}^n , the Brownian exit time of C is denoted by T_C . Given domains C and D in \mathbb{R}^n this paper gives an upper bound of the distribution function of T_{C+D} when the distribution functions of T_C and T_D are known. The bound is sharp if C and D are parallel affine half-spaces. The paper also exhibits an extension of the Ehrhard inequality.

1. Introduction

Throughout $W = (W(t))_{t\geq 0}$ denotes Brownian motion in \mathbb{R}^n and if C is a domain in \mathbb{R}^n ,

$$T_C = T_C^W = \inf\{t > 0; \ W(t) \notin C\}$$

is called the exit time from C. Below the notation $P_x[\cdot]$ or $E_x[\cdot]$ indicates that Brownian motion starts at the point x at time zero.

The main aim of this paper is to prove an inequality of the Brunn-Minkowski type for distribution functions of Brownian exit times from domains in \mathbb{R}^n , such that equality occurs for parallel affine half-spaces. Here perhaps the most interesting point is the fact that the set of all Brownian paths $\{W(\omega); T_C > t\}$ is not an affine half-space if C is an affine half-space

in \mathbb{R}^n . Recall that affine half-spaces often turn out to be extremals for Gaussian measures (see Ehrhard [5] and Carlen, Kerce [3]). In connection with our main results Theorems 1.1a and 1.1b, the Bachelier formula for the distribution of the maximum of real-valued Brownian motion (see e.g. Karatzas and Shreve [6], p. 96) plays an important part. Finally, to make comparisons with the Ehrhard inequality (Ehrhard [4], Borell [2]) we find it natural to extend this inequality to more general linear combinations of sets.

Let us continue by giving some more definitions. First the so called vector sum or Minkowski sum of two subsets A and B of \mathbb{R}^n equals

$$A + B = \{x + y; x \in A \text{ and } y \in B\}.$$

Moreover, if $\alpha > 0$, the dilation $\alpha A = \{\alpha x; x \in A\}$. Sometimes we will write

 $\frac{1}{\alpha}A = \frac{A}{\alpha}$. In [1] I use a method based on the maximum principle for elliptic differential equations to prove the following inequality for expected Brownian exit times. Suppose C and D are bounded domains in \mathbf{R}^n and $x \in C$, $y \in D$. Then

$$\sqrt{E_{x+y}\left[T_{C+D}\right]} \ge \sqrt{E_x\left[T_C\right]} + \sqrt{E_y\left[T_D\right]}.$$
(1.1)

Here equality occurs in many interesting cases. First recall that

$$E_x \left[T_C \right] = \int_0^\infty P_x \left[T_C > t \right] dt.$$

Therefore by the scaling property of Brownian motion

$$\sqrt{E_{\alpha x} \left[T_{\alpha C}\right]} = \alpha \sqrt{E_{x} \left[T_{C}\right]}, \ \alpha > 0$$

and it follows that equality occurs in (1.1) if C and D are convex and homothetic, that is C is convex and $D = \lambda C + a$ for appropriate $\lambda > 0$ and $a \in \mathbb{R}^n$. In this paper we will use a method similar to those in my papers [1] and [2] to prove inequalities of the Brunn-Minkowski type for distribution functions of Brownian exit times.

If H is an open affine half-space in \mathbb{R}^n , the Bachelier formula for the maximum of real-valued Brownian motion yields

$$P_x[T_H > t] = \Psi(\frac{d(x, H^c)}{\sqrt{t}}), \ t > 0, \ x \in H$$

where $d(x, H^c) = \min_{y \notin H} |x - y|$ and

$$\Psi(r) = \int_0^r \exp(-\frac{\lambda^2}{2}) \frac{d\lambda}{\sqrt{2\pi}}, \ 0 \le r \le \infty.$$

The main aim of this paper is to prove the following

Theorem 1.1a. Suppose C and D are domains in \mathbb{R}^n and let $x \in C$, $y \in D$, and t > 0. Then

$$\Psi^{-1}(P_{x+y}[T_{C+D} > t]) \ge \Psi^{-1}(P_x[T_C > t]) + \Psi^{-1}(P_y([T_D > t]). \tag{1.2}$$

Equality occurs in (1.2) if C and D are parallel affine half-spaces.

It is not obvious to the author that Theorem 1.1a implies (1.1). There is a functional form of Theorem 1.1a, which reads as follows

Theorem 1.1b. Suppose C and D are domains in \mathbb{R}^n and $f:C \to [0,1]$, $g:C \to [0,1]$, and $h:C \to [0,1]$ continuous functions such that

$$\Psi^{-1}(h(x+y)) \ge \Psi^{-1}(f(x)) + \Psi^{-1}(g(y)), \ x \in C, \ y \in D.$$
 (1.3)

Then, if $x \in C$, $y \in D$, and t > 0,

$$\Psi^{-1}(E_{x+y}[h(W(t));T_{C+D}>t])$$

$$\geq \Psi^{-1}(E_x[f(W(t)); T_C > t]) + \Psi^{-1}(E_y[g(W(t)); T_D > t]). \tag{1.4}$$

Equality occurs in (1.4) if f = g = h = 1 and C and D are parallel affine half-spaces.

Next we introduce some additional definitions. Below F denotes a real, separable Fréchet space and γ a centred Gaussian measure on F, that is γ is a Borel probability measure on F such that each bounded linear functional on F has a centred Gaussian distribution. The Borel field in F is denoted by

 $\mathcal{B}(F)$. The definitions of Minkowski sums and dilations of subsets of F are as in the special case $F = \mathbb{R}^n$.

If

$$\Phi(r) = \int_{-\infty}^{r} \exp(-\frac{\lambda^2}{2}) \frac{d\lambda}{\sqrt{2\pi}}, -\infty \le r \le \infty,$$

and $0 < \theta < 1$, my paper [2] proves the so called Ehrhard inequality

$$\Phi^{-1}(\gamma(\theta A + (1 - \theta)B) \ge \theta \Phi^{-1}(\gamma(A)) + (1 - \theta)\Phi^{-1}(\gamma(B))$$

for all $A, B \in \mathcal{B}(F)$. As in the Latała paper [8] we here follow the convention that $\infty - \infty = -\infty + \infty = -\infty$.

The following result is slightly more informative than the Ehrhard inequality.

Theorem 1.2. Suppose $\alpha, \beta > 0$ are given. Then the inequality

$$\Phi^{-1}(\gamma(\alpha A + \beta B) \ge \alpha \Phi^{-1}(\gamma(A)) + \beta \Phi^{-1}(\gamma(B)) \tag{1.5}$$

is valid for all $A, B \in \mathcal{B}(F)$ if

$$\alpha + \beta \ge 1 \text{ and } |\alpha - \beta| \le 1.$$
 (1.6)

Moreover, if γ is not a Dirac measure at origin and (1.5) is valid for all $A, B \in \mathcal{B}(F)$ then (1.6) holds.

Equality occurs in (1.5) if A and B are parallel affine half-spaces. If, in addition, $\alpha + \beta = 1$ equality occurs in (1.5) if A is convex and B = A.

To comment on a certain relation between Theorems 1.1a and 1.2 we denote by $\mathcal{C}([0,\infty[\,;\mathbf{R}^n])$ the space of all continuous maps of $[0,\infty[\,]$ into \mathbf{R}^n equipped with its standard locally convex topology of uniform convergence on compact subintervals of $[0,\infty[\,]$. Furthermore, we will have the picture that the identity map on $\mathcal{C}([0,\infty[\,;\mathbf{R}^n])$ gives a representation of Brownian motion in \mathbf{R}^n relative to Wiener measure on $\mathcal{C}([0,\infty[\,;\mathbf{R}^n])$. Now using the shorthand notation $W_x(t) = x + W(t)$ it follows that

$$[W_{\alpha x + \beta y}(s) \in \alpha C + \beta D, \ 0 < s \le t]$$

$$\supseteq \alpha [W_x(s) \in C, \ 0 < s \le t] + \beta [W_y(s) \in D, \ 0 < s \le t], \ \alpha, \beta > 0$$

and, hence, by (1.5),

$$\Phi^{-1}(P_{\alpha x + \beta y}[T_{\alpha C + \beta D} > t]) \ge \alpha \Phi^{-1}(P_x[T_C > t]) + \beta \Phi^{-1}(P_y[T_D > t]) \quad (1.7)$$

for all reals α and β satisfying (1.6). The inequality (1.2) is not weaker than the inequality (1.5) with $\alpha = \beta = 1$ since

$$\Psi(\Psi^{-1}(a) + \Psi^{-1}(b)) \ge \Phi(\Phi^{-1}(a) + \Phi^{-1}(b)) \tag{1.8}$$

for all $0 \le a, b \le 1$, which follows from the fact that there is equality in (1.2) when C and D are parallel affine half-spaces. It is simple to check that strict inequality holds in (1.8) for all 0 < a < 1 and $0 \le b < 1$.

It does not seem to exist any natural counterpart of the inequality (1.2) for linear combinations of sets as in (1.7). For example, the inequality

$$\Psi^{-1}(P_{\frac{1}{2}x+\frac{1}{2}y}\left[T_{\frac{1}{2}C+\frac{1}{2}D}>t\right]) \ge \frac{1}{2}\Psi^{-1}(P_x\left[T_C>t\right]) + \frac{1}{2}\Psi^{-1}(P_y(\left[T_D>t\right]))$$

is not true in general. In fact, if that was the case we use the concavity of Ψ to get

$$P_{\frac{1}{2}x+\frac{1}{2}y}\left[T_{\frac{1}{2}C+\frac{1}{2}D} > t\right]) \ge \frac{1}{2}P_x\left[T_C > t\right] + \frac{1}{2}P_y(\left[T_D > t\right]).$$

Now if C is convex and D=C we integrate over $0 \le t < \infty$ and have that the expected exit time $E_x[T_C]$ is a concave function of $x \in C$, which is wrong for the plane domain $\{z \in \mathbf{C}; 0 < \arg z < \frac{\pi}{4} \text{ and } |z| < 1\}$ (see my paper [1], Example 3.1).

By passing note that if $\alpha = \beta = 1$ in (1.5) and the function Φ^{-1} is everywhere replaced by Ψ^{-1} the resulting inequality is false since, otherwise, (1.8) would be an identity.

Theorem 1.2 immediately implies the following result by Sudakov and Tsirelson [9] of independent interest.

Corollary 1.1. Suppose $C \in \mathcal{B}(F)$ is convex and H an open affine half-space in \mathbb{R}^n such that

$$\gamma_n(C) = \gamma_n(H).$$

Then

$$\gamma_n(rC) \ge \gamma_n(rH)$$
 if $r \ge 1$.

Stated otherwise,

$$\Phi^{-1}(\gamma_n(rC)) \ge r\Phi^{-1}(\gamma_n(C))$$
 if $r \ge 1$.

See also Yurinski's book [10] and the early paper by Landau and Shepp [7], which shows Corollary 1.1 in the special case $\gamma_n(C) \geq \frac{1}{2}$.

The present paper is organized as follows. In Section 2 we prove Theorems 1.1a and 1.1b. Finally, Section 3 is devoted to a (partly sketchy) proof of Theorem 1.2.

2. Proof of Theorems 1.1a and 1.1b

First in this section we want to point out that Theorems 1.1a and 1.1b are equivalent. It is obvious that Theorem 1.1b implies Theorem 1.1a simply by choosing f = g = h = 1. To prove the converse implication set

$$C_f = \left\{ (x, x_{n+1}) \in \mathbf{R}^{n+1}; \ x \in C \text{ and } x_{n+1} < \sqrt{t} \Psi^{-1}(f(x)) \right\}$$

$$D_g = \left\{ (x, x_{n+1}) \in \mathbf{R}^{n+1}; \ x \in D \text{ and } x_{n+1} < \sqrt{t} \Psi^{-1}(g(x)) \right\}$$

and

$$(C+D)_h = \left\{ (x, x_{n+1}) \in \mathbf{R}^{n+1}; \ x \in C+D \text{ and } x_{n+1} < \sqrt{t} \Psi^{-1}(h(x)) \right\}.$$

By (1.3)

$$(C+D)_h \supseteq C_f + D_g.$$

Furthermore, if $W^{n+1} = (W, W_{n+1})$ is a Brownian motion in \mathbf{R}^{n+1} the Bachelier formula yields

$$P_0 \left[W_{n+1}(s) < \sqrt{t}\xi, \ 0 < s \le t \right] = \Psi(\xi), \ 0 \le \xi \le \infty.$$

Thus

$$P_{(x,0)}\left[T_{C_f}^{W^{n+1}} > t\right] = E\left[f(W(t)); T_C > t\right]$$

and it is plain how Theorem 1.1a leads to Theorem 1.1b.

Proof of Theorem 1.1b: By monotone convergence there is no loss of generality to assume that C and D are finite unions of open cubes with edges parallel to the coordinate axes. In addition, given $\delta \in]0,1[$, we may assume $f:C \to [0,\delta]$ and $g:D \to [0,\delta]$ are continuous functions with compact supports in C and D, respectively. Finally, there is no loss of generality to assume that h possesses compact support in C + D and

$$h:C+D \to \left[0,\Psi(2\Psi^{-1}(\delta))\right].$$

Now for each q = f, g, h, set

$$u_q(t, x) = E_x [q(W(t)); T_{\text{Dom } q} > t]$$

for every $t \ge 0$ and every x belonging to the closure of Dom q, where Dom q denotes the domain of definition of q. Moreover, set

$$U_q = \Psi^{-1}(u_q)$$

and introduce the continuous function

$$V(t, x, y) = U_h(t, x + y) - U_f(t, x) - U_g(t, y)$$

defined for all $t \geq 0$ and $x \in \overline{C}$, $y \in \overline{D}$. We will prove that $V(t, x, y) \geq 0$, which completes the proof of Theorem 1.1b.

The construction shows that $V(0,x,y) \geq 0$ for all $x \in \bar{C}$, $y \in \bar{D}$. Furthermore, if $x \in C$ and $y \in \partial D$, then $V(t,x,y) \geq 0$ if and only if $u_h(t,x+y) \geq u_f(t,x)$. The latter inequality is obvious since

$$u_f(t,x) = E[f(x+W(t)); x+W(s) \in C, \ 0 < s \le t]$$

$$\le P[h(x+W(t)+y); \ x+W(s)+y \in C+y, \ 0 < s \le t]$$

$$\le P[h(x+W(t)+y); \ x+W(s)+y \in C+D, \ 0 < s \le t] = u_h(t,x+y).$$

In a similar way, it follows that $V(t, x, y) \geq 0$ if $x \in \partial C$ and $y \in D$. In the next step we will show that V(t, x, y) is a solution of a certain parabolic differential equation and the non-negativity of V(t, x, y) then follows from the maximum principle.

Recall that $\Psi(a) = 2\Phi(a) - 1$, $0 \le a \le \infty$, so that $\Psi'(a) = 2\varphi(a)$, $0 \le a < \infty$, where $\varphi(a) = \Phi'(a)$ if $a \in \mathbf{R}$. Moreover, if q = f, g, h we have in the interior of Dom u_q that

$$\frac{\partial u_q}{\partial t} = \frac{1}{2} \Delta u_q$$

and, as $u_q = \Psi(U_q)$,

$$\frac{\partial u_q}{\partial t} = 2\varphi(U_q) \frac{\partial U_q}{\partial t},$$
$$\nabla u_q = 2\varphi(U_q) \nabla U_q$$

and

$$\Delta u_q = 2\varphi(U_q)(\Delta U_q - U_q \mid \nabla U_q \mid^2)$$

Thus

$$\frac{\partial U_q}{\partial t} = \frac{1}{2} \Delta U_q - \frac{1}{2} U_q \mid \nabla U_q \mid^2.$$

To simplify notation, from now on let

$$\xi = (t, x), \ \eta = (t, y), \ \text{and} \ \varsigma = (t, x + y)$$

so that, if t > 0, $x \in C$ and $y \in D$,

$$\nabla_x V = (\nabla U_h)(\varsigma) - (\nabla U_f)(\xi),$$

$$\nabla_y V = (\nabla U_h)(\varsigma) - (\nabla U_g)(\eta),$$

$$\Delta_x V = (\Delta U_h)(\varsigma) - (\Delta U_f)(\xi),$$

$$\Delta_y V = (\Delta U_h)(\varsigma) - (\Delta U_g)(\eta)$$

and

$$\sum_{1 < i < n} \frac{\partial^2 V}{\partial x_i \partial y_i} = (\Delta U_h)(\varsigma).$$

Thus introducing the differential operator

$$\mathcal{E} = \frac{1}{2} \left\{ \Delta_x - \sum_{1 < i < n} \frac{\partial^2}{\partial x_i \partial y_i} + \Delta_y \right\}$$

we get

$$\mathcal{E}V = \frac{1}{2} \left\{ (\Delta U_h)(\varsigma) - (\Delta U_f)(\xi) - (\Delta U_g)(\eta) \right\}.$$

Note here that the quadratic form

$$Q(r_1, ..., r_n, s_1, ..., s_n) = \sum_{1 \le i \le n} r_i^2 - \sum_{1 \le i \le n} r_i s_i + \sum_{1 \le i \le n} s_i^2$$

is positive semi-definite. From the above

$$\mathcal{E}V = \frac{\partial U_h}{\partial t}(\varsigma) + \frac{1}{2}U_h(\varsigma) \mid (\nabla U_h)(\varsigma) \mid^2$$
$$-\frac{\partial U_f}{\partial t}(\xi) - \frac{1}{2}U_f(\xi) \mid (\nabla U_f)(\xi) \mid^2$$
$$-\frac{\partial U_g}{\partial t}(\eta) - \frac{1}{2}U_g(\eta) \mid (\nabla U_g)(\eta) \mid^2$$
$$\mathcal{E}V = \frac{\partial V}{\partial t} + \Omega(t, x, y)$$

or

with

$$\Omega(t, x, y) = \frac{1}{2} U_h(\varsigma) \mid (\nabla U_h)(\varsigma) \mid^2 - \frac{1}{2} U_f(\xi) \mid (\nabla U_f)(\xi) \mid^2 - \frac{1}{2} U_g(\eta) \mid (\nabla U_g)(\eta) \mid^2.$$

Here

$$|(\nabla U_f)(\xi)|^2 = |(\nabla U_h)(\varsigma)|^2 + \sum_{1 \le i \le n} \left\{ \frac{\partial U_f}{\partial x_i}(\xi) + \frac{\partial U_h}{\partial x_i}(\varsigma) \right\} \left\{ \frac{\partial U_f}{\partial x_i}(\xi) - \frac{\partial U_h}{\partial x_i}(\varsigma) \right\}$$

and

$$|(\nabla U_g)(\eta)|^2 = |(\nabla U_h)(\varsigma)|^2 + \sum_{1 \le i \le n} \left\{ \frac{\partial U_g}{\partial x_i}(\eta) + \frac{\partial U_h}{\partial x_i}(\varsigma) \right\} \left\{ \frac{\partial U_g}{\partial x_i}(\eta) - \frac{\partial U_h}{\partial x_i}(\varsigma) \right\}.$$

From the above equations it follows that

$$\Omega(t, x, y) = \frac{1}{2} | (\nabla U_h)(\varsigma) |^2 V - b(t, x, y) \cdot \nabla_{(x, y)} V$$

for an appropriate function b(t, x, y). Moreover,

$$\mathcal{E}V + b(t, x, y) \cdot \nabla_{(x,y)}V = \frac{\partial V}{\partial t} + \frac{1}{2} | (\nabla U_h)(\varsigma) |^2 V.$$

The non-negative of V(t, x, y) now follows from the maximum principle. For completeness we give a direct proof here. Let $T \in]0, \infty[$ be fixed. We know that the function V(t, x, y) is non-negative on $(\{0\} \times (C \times D)) \cup ([0, T] \times \partial(C \times D))$. Therefore, if V(t, x, y) < 0 at some point $(t, x, y) \in [0, T] \times (\bar{C} \times \bar{D})$ there exists a strictly positive number ε such that the function $\varepsilon t + V(t, x, y)$ possesses a strictly negative minimum in $[0, T] \times (\bar{C} \times \bar{D})$ at a certain point $\varsigma_0 = (t_0, x_0, y_0) \in]0, T] \times (C \times D)$. But then

$$V(\varsigma_0) < 0, \ \frac{\partial V}{\partial t}(\varsigma_0) \le -\varepsilon, \ \nabla_{(x,y)}V(\varsigma_0) = 0, \ \text{and} \ \mathcal{E}V(\varsigma_0) \ge 0.$$

and we have got a contradiction.

3. A sketchy proof of Theorem 1.2

Let

$$d\gamma_n(x) = \exp(-\frac{1}{2} \mid x \mid^2) \frac{dx}{\sqrt{2\pi}^n}$$

be the canonical Gauss measure in \mathbb{R}^n .

First suppose $\alpha, \beta > 0$ and

$$\Phi^{-1}(\gamma_n(\alpha A + \beta B)) \ge \alpha \Phi^{-1}(\gamma_n(A)) + \beta \Phi^{-1}(\gamma_n(B))$$

for all $A, B \in \mathcal{B}(\mathbf{R}^n)$. We claim that (1.6) holds.

To see this suppose $C \in \mathcal{B}(\mathbf{R}^n)$ is convex, symmetric, and $0 < \gamma_n(C) < \frac{1}{2}$. Then

$$\Phi^{-1}(\gamma_n((\alpha+\beta)C)) \ge \alpha\Phi^{-1}(\gamma_n(C)) + \beta\Phi^{-1}(\gamma_n(C))$$

Now, if $\alpha + \beta < 1$ we have

$$\Phi^{-1}(\gamma_n(C)) \ge \alpha \Phi^{-1}(\gamma_n(C)) + \beta \Phi^{-1}(\gamma_n(C))$$

or

$$0 \ge (\alpha + \beta - 1)\Phi^{-1}(\gamma_n(C))$$

which is a contradiction. On the other hand if $|\alpha - \beta| > 1$ we get a contradiction as follows. Depending on symmetry there is no loss of generality to assume that $\beta - \alpha > 1$. Then

$$\mathbf{R}^n \setminus C \supseteq \alpha C + \beta (\mathbf{R}^n \setminus C)$$

and we get

$$\Phi^{-1}(\gamma_n(\mathbf{R}^n \setminus C)) \ge \alpha \Phi^{-1}(\gamma_n(C)) + \beta \Phi^{-1}(\gamma_n(\mathbf{R}^n \setminus C))$$

or

$$-\Phi^{-1}(\gamma_n(C)) \ge \alpha \Phi^{-1}(\gamma_n(C)) - \beta \Phi^{-1}(\gamma_n(C))$$

since $\Phi^{-1}(1-y) = -\Phi^{-1}(y)$ for all 0 < y < 1. Thus

$$0 > (\alpha + 1 - \beta)\Phi^{-1}(\gamma_n(C))$$

which is a contradiction.

To prove that (1.6) implies that (1.5) is valid for all $A, B \in \mathcal{B}(F)$ there is no loss of generality to assume $\gamma = \gamma_n$. Most parts of the proof may be arranged in a similar way as the proof of Theorem 1.1b above and, moreover, we may proceed almost in the same manner as in my proof of Ehrhard's inequality [2] (replace the pair $(\theta, 1 - \theta)$ by (α, β) and replace the differential operator

$$\mathcal{E} = \frac{1}{2} \left\{ \Delta_x + 2 \sum_{1 < i < n} \frac{\partial^2}{\partial x_i \partial y_i} + \Delta_y \right\}$$

by the differential operator

$$\mathcal{E}_{new} = \frac{1}{2} \left\{ \Delta_x + \frac{1 - \alpha^2 - \beta^2}{\alpha \beta} \sum_{1 \le i \le n} \frac{\partial^2}{\partial x_i \partial y_i} + \Delta_y \right\}.$$

Finally, note that if, $\alpha, \beta > 0$, the differential operator \mathcal{E}_{new} is semi-elliptic if and only if $\alpha + \beta \geq 1$ and $|\alpha - \beta| \leq 1$). The details are omitted here.

Bibliography

[1] Ch. Borell. Greenian potentials and concavity. Math. Ann. 272 (1985), 155-160

- [2] Ch. Borell. The Ehrhard inequality, C. R. Acad. Sci. Paris, Ser. I 337 (2003), 663-666
- [3] E. A. Carlen, C. Kerce. On the cases of equality in Bobkov's inequality and Gaussian rearrangement. Calc. Var. 13 (2001), 1-18
- [4] A. Ehrhard. Symétrisation dans l'espace de Gauss. Math. Scand. 53 (1983), 281-301
- [5] A. Ehrhard. Eléments extrémaux pour les inégalités de Brunn-Minkowski gaussiennes. Annales de l'Institut Henri Poincaré 22 (1986), 149-168
- [6] I. Karatzas and S. E. Shreve. Brownian Motion and Stochastic Calculus. Second Edition. Springer-Verlag 1991
- [7] H. J. Landau and L. A. Shepp. On the supremum of a Gaussian process. Sankhyā 32, ser A (1970) 369-378
- [8] R. A. Latała. On some inequalities for Gaussian measures. Proceedings of the ICM, 2 (2002), 813-822
- [9] V. N. Sudakov and B. S. Tsirelson. Extremal properties of half-spaces for spherically-invariant measures. Zapiski Nauchn. Seminarov LOMI 41 (1974) 14-24) (translated in J. Soviet Math. 9 (1978) 9-18)
- [10] V. Yurinsky. Sums and Gaussian Vectors. Lecture Notes in Mathematics 1617. Springer-Verlag 1995